
<a:b xmlns:a=“c”></a:b>

Element

Rc<HashMap>
Namespaces

Namespace“a”
Option<String>Name

Rc<Value>

Value

Rc<QualifiedName>

String “b”

“c”

Some(“a”)

Option<Rc<Value>>
Name

Local part

Namespace URI

Prefix



<a:b xmlns:a=“c”><a:d/></a:b>
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The two elements have the same 
in-scope namespaces, so they 
share the HashMap.



<a:b xmlns:a=“c”> 
  <a:d/> 
  <e:b xmlns:e=“f”/> 
</a:b>
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Elements a:b and a:d have the 
same in-scope namespaces, so 
they share the HashMap. 
Element e:b has a different set of 
in-scope namespaces, so it gets it’s 
own HashMap, but shares the 
Namespace object for prefix “a”.
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